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12798 AK****40  fox| Oxt A 11,75 [ 133 0 0 23500 | 1080 | O ofo]|ox]| A |oOx]| 131500 1
12690 M3****3 Ox| Oxt A 16,91 [ 73 0 0 338,20 | 657 0 ofo]ox]| A [oOx 995,20 2
13962 AZ***x32  fox| Oxt A 17,30 0 0 346,00 0 0 ofo]ox]| A [oOx 346,001 3
13243 AM****¥93 oy OxL A 16,00 0 0 320,00 0 0 ofo]ox]| A [oOx 320,00 4
15162 X8****Q Ox| Oxt A 15,91 0 0 318,20 0 0 ofo]ox]| A [oOx 318,20 5
15154 AB****18  [ox| Oxt A 2 15,55 0 0 311,00 0 0 ofo]ox]| A [oOx 311,00 6
15142 AH****83  [ox| Oyt A 15,50 0 0 310,00 0 0 ofo]ox] A |ox 310,00 7
15728 AlF**x57 Ox| Oxt A 2 11,93 0 0 238,60 0 0 ofo]ox]| A [oOx 238,60| 8
14332 AO****10  [ox| Oxt A 11,00 0 0 220,00 0 0 ofo]ox]| A [oOx 220,001 9
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